107§ & RATL AMB ST L 5 225 4 54 it 2 ¥
- FEFPFNRLEFF RS e T I [0 ARPATRESLZFERAGM LH
d\**f"irﬁf'%iiiﬁtﬂ (107 £9 P10 p ) ak o fﬂr;glrg_ﬁjfl‘pi‘? - ;\:‘:__'-.z,

BEEAR 7T A

LRAEI R R

11 pT23:00 o » #45]% 22 3 & 4207 B2

S g ERA TR

L 107 & 7 % 10 pd=3 7 7
W TE TP 2YP209 % o

(Fripef C Rp- 28287 > F=8:003% 12:00> = 1:00 % 4:30)

2. 47 F]%
L (BFRAEES  F5RAF5 13 TH0)-

\\\?{r

(1) Brx#EIrrz i
(2) MR ELLrBEDT ~FRaBAL o
) ¥ rd o
S A

(3) Fax (RFH

4 A"\ :‘E ,\w‘_‘;'lx;
T 7]
¢

% 0 S n ! http://exam. fJu edu. tw/stu/
#5RII )Y 4 FHRAL R A

MEFmAFIRLFTR,
E g TRELEITO B 5%

AN X R
—‘ﬁ’%—}|ﬁp IT'§4 ;s(z )

FIFHR o

‘:‘fJ_w— Ly R R -

RS TR RN S N P TR R S

W

o EAT CFIAPM L MR RO AR A Tl o E BA b A L e SR TIAP L
SoOWPYAFEIF > FENAREL 5D & A s o

"N

S EPA A L H

=4

FHREEE VAL AREF &4 ¢

O
0774510021
g 50 0 407155032



